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%R Gar Do F 2
Imput data 24 2 7012 A 2idts

Ziwm kul R=/0

28 o) 24 925%2 Im= 10 ka-m"

\2 & .
1¥ 2T 2| Y 2Fuz Jp= 1 Kgpm©
o & TN 5 -
e ) B Hile) g 1FMz 4= 00 ka.ML
v 42002
ouTeUrT DATA
EQUVALENT TNERTIA OF ODPTIMA] GEAR Thalw LI 1 I OPTIMAL GEAR RATTO FROM MOTOR

TO LOAD
RATTOIS 1z 1.,54275
RATIOtS 1= 1.64612
RATIOS = 1.THHID
RATTO(S )= 2.13635

)3l g
OUTPUT DATA
EQUVALENT INEKRTIA OF OPTIMAL GEAR TRALN HNE T B OPTIMAL GEAR RATIO FROM MOTOR
T LOAD
RATIO(S =
RATIO(S)Y =
KATIO(S) =

3)12 )na

OUTPUT DATA

EQUVALENT TNERTIA OF OPTIMAL. GEAR TRAIN 20 0422 OPTIMAL GEAR RATIO FROM
TG LOAD -

RATTO(S)= 2.43208

RATIO(S)= 4.11175

MOTOR
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190

FR
200
210
220
230
233
235
237
240
250
260
270
280
290
300
310
320
330
340
350
360
370
3756
380
390
400
410
420
430
440
450
460
70
480
490
500
510
520
530
540
550
560
570
580

e
AW

REM
DIM LOW!]U).HIGH{!U),K(IUJ,P(IU).N(IUJ.HPXiln).VY(!U!,HAVN{IUJ.HHLN(IU)
DIM XA(]U).YA(iU).Y?(!UJ,Y?!JU),XZA(IUJ.anfln)
READ RATlo,xln.xlr,xiL.n|,lz.ru.nﬁuwa.nwunT.FPS.F,NH.H.NV.KV,ST
DATA 10.10,1,IﬂU.d,l.i,U.],l.2.U.UUUl,U.UUI.5.20,3.3,5
Tt=I1-1
FOR 1=1 TO 11
READ XLOW,XHIGH
LOW(T}=XLOW
HIGH{1)=XHIGH
NEXT 7
DATA 1,3,10,49,1,3

GOSUB *GRAD

Ti=T1+1

LPRINT "INMMIT pAPar

LERINT “NUMBER OF REBT ION g4y IN GEAR TRAIN":
LPRINT "ROTARY INKRTIA OF MOTOR ARMATURE"™: X |8
LPRINT “ROTAHY INERTIA OF MOTOR PINION" ;X §
LPRINT “ROTARY INERTIA OF 10oAD ON LAST SHART":X1L
LPRINT “OVERRALL GéaR RATIO SPECIFIED” : RATTO
LPRINT “"QUTPUT patra"

LPRINT "EQUVALKNT INERTIA o DETIMAL GEAR TRAIN" ;¥ o OPTIMAL 1EAL
OM MOTOR "0 (.0aD”

FOR T=) o 1)

XX=X1(1)

LPRINT "RATIO(S)="\Y

NEXT 1

FOR D=t To 1}

XX=X(n)

GOSUB $GRAPHIC

NEXT D

END

+GRAD

Nl1=z0

N2=0

NN=Q

FOR 1=1 Ty |1

SPXATIZHTIGH{ |y ~1,00( 1)

NEXT 1

TE 12 <=0 THEN 450 ELSKE pRINT "CONVERGRNCE ™

ON T3 GOTO 350,3%0,420,450

FOR T=1 TO i|

X{T)=(LOW(TI4+HTCNH 1)) /2

NEXT I

GOTO 450

FOR I=1 TO 1}

X(I)=LOW(1)

NEXT 7T

GOTO 450

FOR I=! TUu 1}

X(V)=HIGH( 1)

NEXT |

YLR=-10"t0

SAVY=YLD

REM CONDUCT siigviy

SUM=0

IF N1-100*11 <=0 THEN 580 FLSE 500

K=4

Y=SAVY

FOR I=1 TO 1)

X{T1)=8avX(1)

NEXT T

GOTO 1270

J=0

N5=0 : -107-
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590 MizN1+1

595 SAY=Y

600 IF SAVY-Y ¢ 0 THEN 610 ELSE 850
610 SAVY=ZY

6§20 FOR T=1 TG 11

630 SAVX(1)=X!(T)

640 NEXT T

650 FOR I=1 T0 T1

660 X(T)=X({T)+FPS

670 GOSUB *MERIT

680 N1=N1+1

690 YY(T)=Y

700 PLIYS(YY(I}=-SAYI/EI'S

710 SUM=SUM4D(T)}"2

720 X{T)=X(T)-EPS

730 NEXT T

740 X(9)}=SAVY

750 REM CONVERSENCE

760 IF 12=0 THEN 810 ELSE 770

770 N2=N2+1

780 IF N2-T2 =0 THEN 790 ELSE 840
790 PRINT “N1=";N1;"DELPA=";DELTA;"Y=";8AY
795 Nz T1+1

800 FOR 1=1 TO N

810 PRINT "X(":I1:")=";:X(1)

820 NEXT I

830 N2=0

840 TF YLD-SAY ¢ 0 THEN RA50. ELSF 1140
850 DELTA=DELTAXDMULT

860 TF SUM=0 THEN 870 ELSE 440

&70 IF NN=O TIHEN 8430 FELSK 920

880 X{1)=NX(11+REI'S

890 1IF X(OI1)V-HIGHt 1Y ¢= 0 THFM 910 I'LSE 900
900 X{1)=X(1)1-2%EI'S

910 GOTO 480

920 J1=0

930 FOR I=1 10 11

540 TF ABS(DELTA)-ABS{F¥5PX{] Y/2) >z 0 THEN 450

"950 JT7=J7+1

960 DELX(1)=EPrS

970 NEXT 1

980 IF J7 =0 THEN 1270 ELSE 1250
990 DEM=SQR(SUM)

1000
1010
1020
1030
1040
1050
1060
1070
1080
1090
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310

FOR I=1 TO 1|
DELX(T)=P(1)*DELTA/DEM
XTIy =X(T)+DELX{ )

MEXT 1T

YLD=SAY

FOR T1=1 TGO It

IF X(T)~-LOW{1) ¢ O THEN 1970 ELSE 1090
NS=NG6+1

X{I)=LOW{( 1)

IF X(I)-HIGH{YE)Y > 0 THEN 1100 ELNE Freo
NE=N5+1

X{T)=HIGH(T}

NEXT 1

GOTO 480

J6=0

YLD=5AVY

Y=5AVY

FOR (=1 11> 11
X{1)=8AvX (1)

NEXT 1

FOR T=1 TO 11

Ll ABSiGELEAT -aBSiFSENT11/72) 2= o THEN . LZ2U

JE=J6+ 1

NEXT I

IF J6=0 THEN 1270 FIL.SE 1250
DELTA=DELTA/ 10

GOTO HEV

IF Y-SAVY < 0 THEN 12B0 ELSE 1120
Y=8AVY

FOR T= 1 TO 11

X{1)=SAVX(T)

NEXT 1 -108-
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1320 COSUB *MERTIT
1325 SAT=Y

1330 N1=N1+41

1340 FOR Iz1 TO 11

1350 B=F*SPX(T1)/2

1360 X(T)=X{(T)+B

1370 GOSUB ¥MERIT

1380 NI=N1+1

1390 P(I)=(Y-SAT)/B

1400 X(T)=X(T)-P

1410 NEXT 1

1420 FOR T=| TO I1

1430 X(I)=X(T1)-B

1440 GOSUR sMERIT

1450 N1=N1+1 )

1460 Q{IY=(SAT-Y)/R

1470 X(T)=X(1)+B

1480 NEXT I

1490 IF 4-K <>0 THEN 1500 ELSEF 1410

1500 N8=0 :NY=0 i

1510 FOR I=) TO 11

1620 IF P(I) < 0 THEN 1530 KFLNF 16550

1530 NB8=NE+1

1540 GOTO 1560

1550 IF P{1) =0 THEN N9=NG+] FLSE 1560

1560 NEXT 1

1561 FOR T=1 TO ||

1562 IF Q(1) > 0 THEN 1564 ®I.SE 1566

1564 NB=NB+41

1565 GOTO 1567

1566 IF Q{1) = o THEN N9=NY41 EINF 1567

1567 NEXT 1

1570 TF N9-Z%11 <> 0 THEN 1580 KIL.SKE 1610

E58B0 IF NE-2%1I1 = 0 THEN 1590 FLSE 1640

1590 K=2

1600 GOTC 1640

1810 K=3

1620 GCOTO 1640

1630 K=t

1640 COSUB *MERIT

1660 NI1z=N1+1

1660 IF 1220 THEN I8{0 EISF 670

1670 LPRINT "LARGEST MERIY ORDIHATE" @ v

1680 LPRINT "NUMBER OF FUNCTION EVAaLbaTIONT 1N

1690 LPRINT "FINAL StEAHCH STED S1ZE" :DRELTA

IT00 LPRINT "STKP S17E (GRoWH MULTIPL )RR ; MU T

1710 LPRINT "SURVEY DPATTERN INCREMENT" « kb8

1720 LPRINT “FRACTTONAL REBUCTION IN INTERVAL OF UNCERTAINTTY " p
1730 LPRINT "SPECTF OF LARGEST MERET ORDINATE™ 1K
1740 JJ=0

1750 FOR 1=1 TO 11

1760 JJizJdJd+1

1770 LPRINT "X(":JJ:”):":Y(I);;"P(“:JJ:“
1780 NEXT T

1790 ON K GOTO LROU IR20, 1810
1800 LPRINT "“MERIT UNTIREME 18 AN EYTREMUM
1810 RETURN

1820 LPRINT "MER|T EXTREME 15 A maximume
1830 RE'URN

1840 LPRINT "MERIT 18 A PLATREIt e
1850 RETURN

=":P(T)::”Q(";JJ:”):";Q[!)
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1860 REM

1870 $MERIT

1890 PRD=1

1900 SUN=0

1910 BOTTOM=1

1920 FOR 1.=1 TO 11

19490 PRDz=PRD®EX (I}

1940 NEXT L

1950 M=I141

1960 X{M)=RATIO/VRD

1980 FOR 1,=2 To M

1980 TOP=X (L) "2+1

2000 BOTTOM=BOTTOMENX (1-1172
2010 SUN=SUN+TOD/ROTTOM
2020 NEXT L

2030 XTEQ=XIM#XIPT{1+X (1172 X1 PISUNSXIL/RATIONZ
2040 Y=1/X1EQ

2050 RETURN

2060 ¥*GRATHIC

2070 REM GEAR

2080 SCREEN 3:CLS 3

2090 CONSOLLE 0,25,0

2100 Zi=10

2110 Z2=INT{Z1¥®(XX+.0565))
2160 CLS 1

2170 RFM —— - msmmm e mm e —— = mm == m ==
2390 SAz0 : E=380 : P'I=3.1415%
2620 REM ~-r—msmmo—mmmm—mm s e m m e — oo oSS S S— S SS TS SSSSSSTEomETET T TTT T
2625 LPRINT TAR(10);"DPINION ;
2630 FOR Grz=SA TO E STEP 8T

2640 TH=GH/1HO*P]

2650 CS=COS(TH) : SNasIN{TH) PNSTANCTH)

2660 X0=Z1IMD/2¢¥CSt (' TN=-"TH)

2665 X01=Z2*MD/23CSE(I'N-TH) .

2670 YO=-Z1¥MD/2¢ (CS+TH¥SN-1)

2675 YO1=-Z2%MD/2* (CS+TH¥SN=~1})

2680 ZNA=INTI(GR/360%¥71) : ZNHB=INT{GR/360xZ2]

2690 FOR 1= ZNA-1 TO 7NA+!

2700 CYC=DPT¥MD=I

2710 GOSUB ¥VERS

2720 GOSUB *¥WERS

2730 FOR J=0 TO 3

2740 LINE(XZ{JY,YZ (1= (NZ(J+ 1), YA(I+1))

2745 NEXT J

2750 NEXT 1

2752 FOR 1=7NB-1 TO VNH+)

2753 CYC=PI¥MD# 1

2756 FOR J=0 TO 3

2757 LINE(XZA{.J),YZB(J))-(XZA(JT+1),YZB(J+1))

2758 NEXT J

2759 NEXT 7T

2760 NEXT GR

2770 VIEW(0,0)-{639, 343

2775 COPY 2

2780 RETURN

2790 $VERS

GBO0 REM = o o e e e e e e e m e
2810 XA(Q)=CYC @ VA{O) =MD
2820 XAL 1) =2, 20 8MEBFPANTATHUYC 0 YA =1 2h M)

2830 XA{(Z2)=P1I¥MD/ 2, 25EMD¥PANCAYAOCYED YALZY= .20 EMD

2840 XA(A)=PI¥MD/Z4+2¥MDETAN(AYH+CYC: YA( D =MD

2850 XA(4)=PUsMD+UYC : YA(4)=-MD

2860 RETURN

2870 *WERS

2B80 REM--m e e e e e e r e s m e e
2890 FOR N=O TO 4 T TTTTTTTTTTITTIImmmmmmmmmmmm I
2900 XgiN):KK*(Vq(N)*PH-Y\(N)*SN+\0)+IUU

2910 YZ(N)=KYX(XA(NIESN+YA(NIZCS+YD)I+130-7tMDh/2¥KY

2920 NEXT N

2921 REM - ——— e e e e

2922 $XERS T
2923 FOR N=O TO 4

2925 NZA(NIzKNT{NAIN)IECS-YAINYSSHENC T +430

2927 YZBIN)=KYF{(XA(N)TSN+YAIN)IHCSH+Y01 )+ TOZaMD /2 F 1Y

2929 NEXT N '

2930/ RETURN -110-



